
www.ergotron.com  |  USA: 1-800-888-8458  |  Europe: +31 (0)33-45 45 600  |  China: 400-120-3051  |  Japan: japansupport@ergotron.com



A B C D

1

2

Ø 3/16"  (5mm)

Stud Finder
Localizador de largueros de madera
Stud Finder
Auswahl von Montagematerial
Positiebepaler balken
Rilevatore di montanti 

螺栓探测器

Ø 3/8” (10mm)

5°

70°
180°

180°

20"
(50.8 mm)

25 lbs

(11.3 kg)

0° or 360°

Maximum Screen 

Size* = 42” 

*Limited to 25 lbs 

maximum

13 mm

Wood Stud MountingConcrete Wall Mounting



A B C D

1

2

3

4

5

6

M4 x 10mm

10-24 x 1/2"

M4x12 M5x12 M6x12

1x

4x

4x 4x 4x
1/8”

1x

1x

5mm
4mm

1x

1x

1x
1x
1x

4x

4x1x

1x

1x

1x

2x 2x

4x
4x

4x

4x

M8 M5 Kit 

2x

M4 x 10mm

M3 x 6

M8 x 80mm

M8

M8-M5

Reducer

M6

M6 x 45mm

M5 x 7mm

M5x20mm



1  

6”
(152 mm)

5’0” - 6’1”
(152.-185cm)

50.5”
(1283mm)

10.8”
(273mm)

8.6”
(218mm)11.6”

(295mm)

4.3”
(107mm)

2.2”
(56mm)

5’0” - 6’4”
(152-193cm)

35”
(mm)

This mounting height is a recommendation for an ergonomic workstation that accommodates user heights of 5'0"-6'1" 
(152-185cm) when set up for standing and user heights of 5’0”-6’4” (152-193cm) when set up for sitting.

If user heights are diff erent than this, you should change mounting height to accommodate user heights. (Change mount-
ing height one inch for every one inch diff erence in user heights).

Determine mounting location:

Mounting height assumes 
there is a 6” (152 mm) distance 
between the center of your 
monitor mounting holes and 
the top of the screen. If your 
distance is smaller, you should 
increase mounting height 
accordingly, if your distance 
is larger, you should 
decrease your mounting 
height accordingly.

Top view showing range of motion when pulled out from the wall.

Front view with arm pushed back against the wall.

Mounting Height for Ergonomic Workstation



Concrete

Concreto

Béton

Massivbeton

Beton

Cemento

水泥质

CAUTION: Make sure the wall mount bracket is level, fl ush and snug to the 

wall surface. DO NOT OVERTIGHTEN THE BOLTS.

PRECAUCIÓN: Asegúrese de que la fi jación de la montura en pared está nive-

lada, iguálela y ajústela respecto a la pared. NO RETIRAR ESTA ETIQUETA!

AVERTISSEMENT : assurez vous que le support moral soit bien à plat et contre 

la surface du mur. NE PAS SERRER EXCESSIVEMENT LES BOULONS.

VORSICHT: Bitte versichern sie sich, dass die Wandhalterung gerade befestigt 

ist und dabei dicht and der Wand anliegt. DIE SCHRAUBEN NICHT ZU STRAFF 

ANZIEHEN.

LET OP: zorg ervoor dat de muurbevestigingsbeugel recht is, gelijk aan en 

nauwsluitend met het muuroppervlak. DRAAI DE BOUTEN NIET TE VAST.

ATTENZIONE: verifi care che la staff a di fi ssaggio a parete sia parallela ad essa, 

pari e aderente alla superfi cie. NON STRINGERE ECCESSIVAMENTE I BULLONI.

注意：请确保壁挂式安装支架水平、平直并紧贴墙壁。不要过度拧紧螺栓。

WARNING: Ensure that the wall structure is capable of supporting four times 

the total weight of mounted equipment. Mounting to wall surfaces that do not 

meet this criteria may result in an unstable, unsafe condition which could lead 

to personal injury and/or property damage. Consult a construction profes-

sional if you have any doubt about what this means in regard to your particular 

application.

AVISO: Verifi que que la pared donde vaya a instalar el Soporte de pared es 

capaz de soportar 4 veces el peso total del equipamiento a instalar. El montaje 

del monitor en una pared que no cumpla estos requisitos puede conducir a una 

instalación inestable e insegura y derivar en daños personales y/o de la pared 

y el monitor. Consulte a un instalador profesional si tiene dudas respecto de su 

caso particular.

ATTENTION: Assurez vous que le mur sur lequel vous allez monter est capable 

de supporter 4 fois le poids total du matériel. Un montage sur une surface 

critique peut générer une faiblesse dans l’installation et causer des dommages 

corporels et/ou matériels. En cas de doute, contactez un professionnel. 

Achtung: Stellen Sie sicher, daß die Wand an der Sie das Display montieren 

wollen mindestens das vierfache Gewicht der zu befestigenden Geräte tragen 

kann. Eine Befestigung an Oberfl ächen, die nicht in der Lage ist, dieses Kri-

terium zu erfüllen, könnte zu einem instabilen und/oder unsicheren Zustand 

führen, welcher Personen- oder Sachschaden zur Folgen haben könnte. 

WAARSCHUWING: Zorg ervoor dat de wand waartegen de Directe wandbeves-

tiging bevestigd zal worden geschikt is om vier keer het totale gewicht van de 

apparatuur te dragen. Het bevestigen van een beeldscherm aan een wand die 

hier niet aan voldoet kan leiden tot een onstabiele en onveilige situatie wat 

lichamelijk letsel, schade aan de muur en het beeldscherm kan veroorzaken.

ATTENZIONE: Verifi cate con attenzione che la struttura della parete il disposi-

tivo di  Montaggio a parete a basso spessore possa reggere un peso maggiore 

a quattro volte il valore totale di tutte le apparecchiature montate. Il montag-

gio su pareti che non soddisfi no questo requisito può comportare instabilità e 

scarsa sicurezza, con conseguente rischio di danni od infortuni sia alle persone 

che alle cose.

警告：确保墙体结构能够支撑四倍于安装设备的总重量。安装到不符合本标准的
墙面可能造成不稳定、不安全的情况，进而导致人员伤害及/或财产损害。如果

您对具体应用还存有疑惑，请咨询建筑专业人士。

2

Ergotron product

Producto Ergotron

Produit Ergotron

Ergotron Produkt

Ergotron-product

Prodotto Ergotron

Ergotron 产品
Ergotron

Wood

Madera

Bois

Solide Holzbalkenträger

Massief Houten Pilaren

Due montanti in legno 

massiccio

木质

3.15"
(80mm)

7.1"
(180mm)

6.5"
(165mm)

1.57"
(40mm)

1.34"
(34mm)

1.14"
(29mm)

5.1"
(129mm)

6 7 8



NOTE: Wall Track and Brackets sold separately.
Guía y soporte de pared Vendido por separado
Montant mural et fi xation Vendu séparément
Alu-Profi lschiene und Bügel Separat erhältlich
Muurrail en -beugel Apart leverbaar
Wall Track e staff a Venduta separatamente

墙轨和托架单独出售。

Ergotron product

Producto Ergotron

Produit Ergotron

Ergotron Produkt

Ergotron-product

Prodotto Ergotron

Ergotron 产品
Ergotron

When attaching to Pole Clamps, use 10-24 x 5/8” 

screws included with pole brackets, Do NOT use 

10-24 x 1/2” screws

Atención: Cuando lo instale en abrazaderas 

para polo, use tornillos 10-24 x 5/8”. No 

utilice tornillos 10-24 x ½” 

Attention : pour une fi xation sur tube, 

utilisez des vis 10-24 x 5/8’’. N’utilisez pas 

de vis 10-24 x ½’’.

Zur Montage an Befestigungsringen 

verwenden Sie bitte 10-24 x ¾“ Schrauben, 

KEINE 10-24 x ½“ Schrauben.

LET OP: bij bevestiging aan paalklemmen, 

gebruik 10-24 x 5/8” schroeven. Gebruik 

geen 10-24 x ½” schroeven!

Attenzione: Fissando ai morsetti dell’asta, 

utilizzare viti da 10-24 x 5/8”. Non utilizzare 

viti da 10-24 x ½”!

安装到杆夹时，采用10-24 x 5/8”螺丝, 
不要使用10-24 x 1/2”螺丝

NOTE: Fasteners may unwind due to vibration caused by move-

ment of mounting solution over time. Inspect mounting solution 

for loose fasteners on a routine basis. If desired, apply a light duty 

thread locking adhesive to fasteners before installation to prevent 

back-out.

NOTA: Los fi jadores pueden llegar a soltarse debido a la vibración 

generada por el movimiento de la solución de montaje con el paso 

del tiempo. Inspeccione de forma rutinaria la solución de montaje 

para ver si hay fi jadores sueltos. Si lo desea, aplique un adhesivo 

de bloqueo de roscas para aplicaciones no intensas en los fi jadores 

antes de instalarlos para impedir que se desenrosquen.

REMARQUE : avec le temps, les fi xations peuvent se relâcher à 

cause des vibrations dues aux mouvements de la solution de 

fi xation. Vérifi ez les fi xations de la solution régulièrement. Si vous 

le souhaitez, vous pouvez appliquer un adhésif de verrouillage 

léger sur les fi xations avant l’installation pour éviter ce genre de 

problème.

HINWEIS: Die Befestigungsschrauben können sich durch Vibra-

tionen bei der Bewegung der Befestigungslösung im Lauf der Zeit 

lockern. Überprüfen Sie die Befestigungslösung regelmäßig auf 

gelockerte Befestigungsschrauben. Sie können die Befestigungss-

chrauben mit einem Gewindekleber für geringe Belastungen 

fi xieren, um ein Lockern zu vermeiden.

OPMERKING: De bevestigingen kunnen na verloop van tijd losk-

omen door trillingen veroorzaakt door beweging van de montage. 

Kijk op een routinebasis de montage na op losse bevestigingen. 

Breng indien gewenst wat lijm aan op de schroefdraad van de 

schroefverbindingen om het loskomen te vermijden. 

NOTA: i dispositivi di fi ssaggio possono allentarsi a causa delle 

vibrazioni provocate dal movimento della soluzione di montaggio 

nel tempo. Ispezionare regolarmente la soluzione di montaggio 

per verifi care se i dispositivi di fi ssaggio sono lenti. Se opportuno, 

sui dispositivi di fi ssaggio applicare un adesivo di bloccaggio 

fi lettature leggero prima dell'installazione, al fi ne di evitare che 

fuoriescano.

OBS: Det är möjligt att skruvar kan lossna på grund av vibrationer 

som orsakas av monteringslösningens rörelser över en längre pe-

riod. Inspektera regelbundet monteringslösningen och titta efter 

lösa skruvar. Om så önskas kan man applicera ett milt gänglås-

ningsklister på skruvarna innan de installeras, för att förhindra att 

de skruvas loss.

注意： 时间一久，紧固件可能会因安装系统移位产生的震动而松
动。 定期检查安装系统，查看紧固件是否有松动。 如果需要，安
装前可在紧固件上使用粘性不太强的螺丝固定剂，以防松动。

4x
10-24 x 1/2"

4x
10-24 x 5/8"

4x
10-24 x 1/2"

4x
10-24 x 1/2"

10

10

10

10



2

3

4

a  b  c  Wood Stud Mount

c  b  

d  Optional locking feature
(customer supplied lock)

2x

CAUTION: Make 
sure the wall mount 

bracket is level, 
fl ush and snug to 
the wall surface.

DO NOT OVER-

TIGHTEN

THE BOLTS. 10

2.75”

Ø 3/16" (5mm) 

13 mm

Stud Finder
Localizador de largueros de madera
Stud Finder
Auswahl von Montagematerial

Positiebepaler balken
Rilevatore di montanti 

螺栓探测器

M8 x 80mm



WARNING: 

Mounting holes must be at least 3-1/8” (80mm) deep and must be located within 

solid concrete, not mortar or covering material.  If you drill into an area of concrete 

that is not solid, reposition mounting holes until both anchors can be fully inserted 

into solid concrete!

AVISO: 

Los taladros deben tener una profundidad mínima de 80 mm. y deben realizarse en 

la capa sólida de ladrillo u hormigón y no en el revestimiento o capa de enlucido. Si 

taladra en una zona poco sólida, coloque de nuevo los 2 huecos para el montaje de 

forma que queden dispuestos en una capa sólida.

ATTENTION :

Les trous que vous allez percer doivent être d’une profondeur minimale de 80 mm 

et correctement placés dans le béton (pas dans les joints). Si vous percez dans une 

partie insuffi  samment résistante, repositionnez la platine pour que les  2 trous soi-

ent tous situés dans le béton!

ACHTUNG:

Die Bohrlöcher müssen mindesten 80 mm tief sein und sollten in Massivbeton 

gebohrt werden, nicht in Mörtel oder Abdeckmaterialien. Sollten Sie beim Bohren 

feststellen, dass Sie in Beton bohren, der Hohlräume enthält, so wiederholen Sie 

den Vorgang bis sich alle vier Bohrlöcher vollständig in massivem Beton befi nden.

WAARSCHUWING:

De bevestigingsgaten moeten tenminste 80 mm diep zijn en mogen alleen in 

massief metselwerk of beton worden geboord, niet in de voegen of in de wandaf-

werking. Verander de plaats van de bevestigingsgaten wanneer u merkt dat u niet 

in massief beton boort, totdat alle vier de pluggen volledig in massief beton of 

metselwerk kunnen worden verankerd.

ATTENZIONE:

I fori di montaggio devono avere una profondità minima di 80mm e devono essere 

ricavati nel cemento solido, non calce

o materiale di rivestimento. Se incontrate materiale diverso dal cemento, ripo-

sizionate i fori di montaggio in modo che tutt’e quattro le viti di montaggio siano 

inserite nel cemento!

警告：
安装孔的深度至少 3-1/8” (80mm) 并且必须位于硬水泥墙面，而不是灰泥或覆盖
材料。如果钻孔碰到不牢固的水泥区，要重新找安装孔，直到锚拴能够完全嵌入硬

水泥中！

WARNING: 

Anchors that are not fully set in solid concrete will not support the applied 

load resulting in an unstable, unsafe condition which could lead to per-

sonal injury and/or property damage. Consult a construction professional 

if you have any doubt about what this means in regard to your particular 

situation.

AVISO: 

Los tacos deben introducirse por completo en el ladrillo u hormigón, pues 

de otro modo no soportarán el peso de su monitor, dando lugar a una 

instalación inestable e insegura que puede ocasionar lesiones personales 

y / o daños en el monitor y la pared. Consulte a un instalador profesional si 

tiene dudas al respecto de su caso particular.

ATTENTION :

Des chevilles qui ne sont pas entièrement insérées dans le béton risquent 

de créer une faiblesse dans le montage et d’entraîner des dommages cor-

porels et/ou matériels. En cas de doute, contactez un professionnel.

ACHTUNG:

Verankerungen die sich in nicht vollständig massivem Beton befi nden, 

werden das Gewicht der angehängten Last  nicht tragen und zu einem  

instabilen, unsicheren Zustand führen, der zu Personen- und/oder Sach-

schaden führen kann. 

WAARSCHUWING:

Pluggen die niet volledig in het beton zijn verankerd zullen de op te 

hangen apparatuur niet kunnen dragen, dit zal leiden tot een onveilige 

en onstabiele situatie wat lichamelijk letsel en schade aan de muur en het 

beeldscherm kan veroorzaken.

ATTENZIONE:

Tasselli che non facciano presa nel cemento non saranno in grado di reg-

gere il carico, con conseguente instabilità e mancanza di sicurezza, che 

possono condurre a danni alle persone ed alle cose. 

警告：
没有完全嵌入的锚拴无法支撑重量，结果造成不稳定、不安全的情况，这
会导致人员及或财产伤害。如果您对具体应用还存有疑惑，请咨询建筑专

业人士。

Concrete Wall Mount

2 a  
b  c  

3-1/8"
(80 mm)

Ø 3/8” (10mm)



4

3 a  

c

b  

13 mm

Optional locking feature
(customer supplied lock)

2x

2xx

CAUTION: Make sure the wall 
mount bracket is level, fl ush and 

snug to the wall surface.

DO NOT OVERTIGHTEN

THE BOLTS.

10

1

2

M8 x 80mm



4

a

+ =

Sleeve on 
Bracket

Rotation 
Stop on 
Bracket

Slot
in 

Seeve

c

Top ViewNOTE: when 
sliding 

sleeve on 
to bracket, 
align slot 
over rota-
tion stop.

Mount arm to wall bracket.

4mm

M6

M6 x 45mm

b



0˚

5 Portrait / Landscape Options

OPTION i If you want full 360° portrait/landscape rotation, skip to step 8 on the next page.

OPTION ii If you do not want your TV/Monitor to rotate all all, you can stop rotation by inseting  
  the xx set screw.

i ii

M3 x 6



6

A

B

C

D

75x75mm
100x100mm

100x200mm

200x200mm

200x100mm

100mm (3-15/16”) 

75m
m

 (2-15/16”)

100m
m

 (3-15/16”) 

75mm (2-15/16”)

100mm (3-15/16”) 

200m
m

 (7-7/8”) 

200mm (7-7/8”) 

200m
m

 (7-7/8”) 

100m
m

 (3-15/16”) 

200mm (7-7/8”) 

VESA Adapter 
Confi gurations

TV/Monitor Hole 
Pattern Sizes

Check size of 
TV/Monitor hole 
pattern

13

14

14

14



OR

A
75x75mm
100x100mm 100mm (3-15/16”) 

75m
m

 (2-15/16”)

100m
m

 (3-15/16”) 

75mm (2-15/16”)

Mount Type A TV/Monitor to Arm7

8 16

M4 x 10mm

M4 x 10mm

4x

M4 x 10mm



B C D

Mount VESA Adapters to Arm based on TV/

Monitor hole pattern size (B, C, or D) .7

M5 x 7mm

4x



OR

OR

100mm (3-15/16”) 

200mm (7-7/8”) 

200mm (7-7/8”) 

200mm (7-7/8”) 

100mm (3-15/16”) 

200mm (7-7/8”) 

B C D

M4x12
M5x12

M6x12

M4x12 M5x12 M6x12

Mount Type B, C, or D TV/Monitor to Arm7

8 16

NOTE:  To reduce 
M8 holes for use 
with M5 screws, or 
if you have a model 
with Samsung 
holder rings, follow 
the M8M5 KIT 

instructions on the 
next page.

16



M8M5 KIT  Instructions

Attach top and bottom bracket covers8

NOTE:  follow this step only if your TV/monitor has M8 holes which need 
to be reduced to M5 or for Samsung models using the holder ring.

Install M8M5 reducer bushing to TV/Monitor and use M5 x 20 mm 
monitor screws to secure when using the Samsung holder ring.

M5x20mm 
Monitor Screw

M8M5 Reducer 
Bushing

TV / Monitor Mounting
M8 size hole 

Holder Ring 
(Not Included * Samsung Only)



9

a

b

Organize and route cables

1x

1x



10



CAUTION: DO NOT overtighten fasteners. Overtightening may cause dam-

age to your equipment.

Cuidado:: No sobreapriete los tornilllos, pues podría causar un daño al 

equipo.

Attention: ne forcez pas le serrage de la vis, cela pourrait endommager 

l’écran et/ou les attaches. 

WARNUNG: Zu festes Anziehen der Schrauben kann zu Beschädigungen 

führen.

LET OP: draai de schroeven niet te strak aan. Te strak aandraaien kan 

schade veroorzaken aan uw apparatuur.

ATTENZIONE: Non stringere eccessivamente i dispositivi di fi ssaggio. Ciò 

potrebbe causare danni all’apparecchiatura.

小心:不要过度拧紧固定器。过度拧紧可能会损坏设备。

11

5mm

To adjust the arm lift:

5mm



CAUTION: DO NOT remove screw. Removing screw may cause damage to equipment.

Cuidado: NO quite el tornillo! Quitar el tornillo puude causar daños en el equipamiento.

Attention : N’ENLEVEZ PAS la vis ! Enlever la vis pourrait endommager votre équipement.

ACHTUNG: Bitte entfernen Sie unter keinen Umständen die Stellschraube. Das Entfernen dieser Stellschraube 

führt zu Beschädigungen an Schwenkarm und Monitor.

LET OP: verwijder GEEN schroeven! Het verwijderen van schroeven kan schade aan de apparatuur veroorzaken.

ATTENZIONE: NON rimuovere le viti! Ciò potrebbe causare danno all’apparecchiatura.

小心:不要拆除螺丝。拆除螺丝可能会损坏设备。

4mm

To adjust the TV/monitor tilt: 

4mm

12



www.ergotron.com  |  USA: 1-800-888-8458  |  Europe: +31 (0)33-45 45 600  |  China: 400-120-3051  |  Japan: japansupport@ergotron.com


